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What is Ewell’s problem with Atticus?  If Atticus is a lawyer and doing his job, why is Bob 

Ewell angry?  What did he expect from Atticus?  (p 40) 

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________ 

 

If anyone else were Tom Robinson’s lawyer, would Bob Ewell have the same problem?  Why 

or why not? (p40) 

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________ 

Draw a picture of the night before when the medal was put in the tree of the person who you 

think put it there. (p41) 

 

 

 

 

 

 

 

 

What could Scout have done instead of fighting Cecil Jacobs? (p42) 

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________ 



Grisanti ELA8 
Why is it so hard for people to walk away from a fight when they are offended?  Fill in the 

chart with the benefits of fighting and not fighting. (p42) 

 
Fighting when offended 

 - 

 - 

 - 

 - 

 - 
 

 
Walking away when offended 

 - 

 - 

 - 

 - 

 - 

 

What would have happened if Scout walked away from the fight? (p42) 

________________________________________________________________

________________________________________________________________

________________________________________________________________ 

 

Develop five reasons Atticus is defending Tom Robinson? (p42) 

 

 

 

 

 

 

 

Fill in the thought bubble with Mr. Radley’s thoughts on why he is filling the tree hole with 

cement.  (p44) 

 

 

 

 

 

 

1- 

2- 

3- 

4- 

5- 

 



Grisanti ELA8 
(p45)  Who do you think is giving all of the trinkets from the tree hole and why would they do 

this? 

________________________________________________________________

________________________________________________________________

________________________________________________________________ 

 

(p47)  “ The news has gotten ‘round the county about my bringin’ Tom Robinson back to the 

jail.  I heard there might be trouble from that bunch out at Old Sarum.”  What trouble are 

they talking about? 

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________ 

 

Summary pyramid 

_______________________________ 

___________________     ______________________ 

___________________________   _____________________________ 

________________________________________________________________ 

________________________________________________________________ 

 

Row  1- What is Tom’s wife’s name? 

Row  2-Name of the person Scout fought. 

Row  3- Two things found in the tree’s knothole. 

Row  4- The reason Atticus decided to defend Tom Robinson. 

Row  5- A prediction of what is going to happen after Tom Robinson is brought back into 

town. 

 


